(alanln
(alnlinl
YO
(alnln

alnlalslislialslialialialalslialisls]
alnlalslisiaslialaialialaisalisalinlsl
alalalalalalalalslalalalalalsl

alnlsl
alnlsl
alnlisl
alnlsl
alalsl
alnlsl
alnlsl
alanlsl
alnls
alnls
alnls
NOYY

I 3

LLL III111111 Uuu UUU TTTTTTTTTITTITTITT LLL
LLL 111111111 uuu UUU TTTTTTITTTTTITTTIT LLL
LLL 111111111 uuu VWU TTTTTTTTITTTITTTIT LLL
LLL 111 uuu uuu 177 LLL
LLL 111 uuu uuu 177 LLL
LLL 111 Uuu uuu 177 LLL
LLL 111 uuu Uuu 177 LLL
LLL 111 uuu Uuu 177 LLL
LLL 111 Uuu uuu 177 LLL
LLL 111 uuu uuu 177 LLL
LLL 111 uuu Uuu 177 LLL
LLL 111 iy uuu 177 LLL
LLL 111 uuu uuu 177 LLL
LLL 111 uuu Uuu 117 LLL
LLL 111 uuu uuu 177 LLL
LLL 111 uuu uuu 177 LLL
LLL 111 uuu Uuu 177 LLL
LLL 111 uuu Uuu 7T LLL
LLLLLLLLLLLLLLL 111111111 UuuuuUuuLUUUUUU 177 LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL 11111111 UuuuuuUuuuUUULU 177 LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL 111311111 (VVVVVVVIVE VTV 1T LLLLLLLLLLLLLLL




sof [LE++[D**SHODEV

S>>
>S3>>>>>>>>
>2>
>>
>>
>>
>>
>
S>>
>33 >>>
[FV]VY) (VO]V}
L tad [VERVE)
b Ahitsd [SRLEV]
[FURVE) bt kad [FNRVV)
i [FERNN) [VeVV)
W [VERVE] Ll
[FUpVE) [EEN) Wi

oDDDDDDD
oDDODDDD
oDDDDDDD
oDDODDDD

000000
000000
000000
000000

8888888888
EEETIEIETIEEE

"I N
wuv v
v wwv wwv
v wun wuv
(%1% wun wun
" wwn wuv
" W wuv
(%1% ] wun (% 2% ]
wununwvm "
(e L Lo T ] wwv

wIvy Vv
wwuv wununwm
wwv wuv ww
wwv wwv v
Al gl " wuv
Iy v wv
wwv wwuv wv v
wn I wuv
"vununn wuv
Vv wn
o — —
S oy Gy
e g g O et Sy B S Bt B
— e = ot e,
—— ot et
—r et
e
o
-
—
o
-t d
—J
"
[ [ P [ S e
[ [ [V IO [ IO O R I R R R R P




L

e 0 00 B0 0 00 00 B0 8080000000000 0000 000NN LRIV RENENIRNINETI IR NI BB NE NI BB NE IR BE RIS E NN SR

B I e e e

OSSN = O OO N WV 8 LN = O O 00 NON VNV S N =2 O O 00 N O WV S LN =2 © 0 00 N0 N SN =2 OO 00 NN VNV B i) =

VIS S BB BB

P e e

VIS AN =2 OO0 N WSS AN = O O 0 ~NO N

CO00000

gSssssss292922228822292029
NOWVES NN = OOV NO VIS N =000

o
ViWAWATWAIWAWAWA

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
i
1
1
1
1
1
1
1
1
1
1

630100 Q33T YA BLisgc3z .0
MODULE shodev (IDENT = *v04-000°

ADDRESSING_MODE (EXTERNAL = GENERAL)) =
BEGIN
i

.
A e e e e e R e R e R e L e R e R R R R R R Rt is

i= COPYRIGHT (¢) 1978, 1980, 1982, 1984 BY
i DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
i ALL RIGHTS RESERVED.

i* THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
:* ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
'* INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTHARE OR ANY OTHER
t* COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
;: ?;gsgfgsgggﬂ. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

i THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
s: eggpogz??bg NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

ie DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
i* SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

L N N N RN NN N NN

'""'."t'.'.".".".".'ﬁ"'.""i"i'!"""".'.ii'l!'."'!.i"i'l..i..
i

i
;00
i FACILITY: SHOW utility

i ABSTRACT:

! This module contains the main routines for the SHOW commands which
deal with devices, i.e. SHOW DEVICES, SHOW TERMINAL, SHOW MAGTAPE,
and SHOW PRINTER.

i ENVIRONMENT:
: VAX native, user mode.

|

]

]

]

4

(]

(]

1

(]

]

% AUTHOR: Gerry Smith CREATION DATE: 28-Jul-1982

; MODIF IED BY:

! v03-010 AEW0002 nne E. Warner 10-Jul-1984

! Add tho iall to SHOUSHSCP for when the qualifier

! /SE s ssuod. This is the request for the

: displa of MSCP served dovicos which is soparato from
i
i
]
]
'
]

the rost of the SHOW DEVICE code so all this c?
does is call the MSCP code when the qualifier is present

v03-009 CWH3009 CW Hobbs 12=Apr-1984
Add another check for NOSUCHDEV, and add an extra
blank Line for full displays.
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v03-008

v03-007

v03-006

v03-005

v03-004

v03-003
v03-002

v03-001

LI
16-Sep-1d8e T2id8i3  Yeliim dsRessitoly:8s2:

CWH3008 CW Hobbs J=Mar=-1984

Add two routines to sort the device scratch blocks into
8 list sorted by device name. Change the display loops
to follow the Llist.

AEW0001 Anne E. Warner 7-Mar-1984
Fix SHOW DEVICE/WINDOWS so that it automatically sets
the /FILES flag and gets to SHOWSFILES module for processing.

CWH3006 CW Hobbs 28-Fcb-}98&
Increase virtual buffer so that approximately 1200 devices
can be displayed. C(Change dev 5; name parsing logic so that
allocation class names (e.g. $2558DUA) are accepted. Some
other minor cleanups related to dual=-path support.

GAS0181 Gerry Smith 19-Sep-1983
Make it possible for JCP to call the routines necessary
to display journals just as SHOW does.

GASO0114 Gerry Smith 1=-Apr=-1983
Change the display for long device names, so that no
special logic is required at this point.

GAS0110 Gerry Smith 28-Feb-1983
Add support for cluster devices.

GAS0107 Gerry Smith 11-Feb-1983
Add support for journals.

GAS00104 Gerry Smith 17=Jan=-1983

Always initialize the device descriptor and unit number.
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}2:2: -}332 ?}:88:;; AX=11 Bliss=32 v4.0-74 Page 3

g- CLIUTL.SRCISHODEV.B32; (2)

91 1
92 1!
935 1 ! Include files
1
99 1 LIBRARY "SYSSLIBRARY:LIB'; ! VAX/VMS system definitions
97 1 REQUIRE °SRCS:SHOWDEF': ! SHOW common definitions
9? } REQUIRE *SRCS:SHODEVDEF'; ! SHOW DEVICES common definitions
s 1
489 1!
9? 1 ! Macro to set u? two associated tables. The first table is a List of
491 1 ! device types. The second table is a corresponding List of addresses
‘35 } ; of device-specific display routines.
49 1 | If a new device type is to be added, all ghat is required in this
495 1 ! macro is to add one Line of code, the device type and the corresponding
23 } E display routine name. You must also write the display routine.
‘gg } MACRO
38? } device_type [devtype, disprout] = devtypeX,
828; } display_routine [devtype, disprout] = XNAME(disprout)¥%,
M 850& 1 make_table (name) =
M 0505 1 CITERAL device _table_Length = (XLENGTH = 1)/2;
= 828? } SGLERNAL ROUTIRE display_routine(XREMAINING);
M 0508 1 device _table : VECTOR[device table _Length,BYTE]
= ggg } INITIAC (BYTE (device_type(XREMAINING))),
M 0511 1 routine_table : VECTOR[device_table_length]
8;}; } INITIAL" (display_routine (XREMKININGY) ; X;

i
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VY9999
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D el T J U W S Y Y

Set up a table of al

and another table pointirg to t

|

l

l

l

make Jtable (dunny
‘sk

dcs
dc$_
dcS_
dc$_

topo.
erm,
ournal,

feseemiodt R oL

device tygos which have a specific display routine,
address of tho display routine each.

ay_disk,
ay -agtaoo
terminal,
ournal
a

displ
displ
display
display
displ y printcrf

=32 V4.0=74
CISHODEV.B32;
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' Table of contents

fOIUARD ROUT INE
sh ces
sh rinter

Show_device : NOVAL
ort_devices : NOVALUG
nsert_device : NOVALUf

zzz

o<

szzz
-

parse_device;

1

1

1

!

1 EXTE ROUT INE

1 cliSget_value,

1 cliSpresent,

1 t_vm,

1 t“cvt 'i lo

1 o_scan,

1 shoutfi[cs.

1 show$m scg

1 display rief : NOVALUE.

1 splay gonorol NOVALUE,
} SwrTte_Line : NOVALUE;
1
1
1
1

EXTERNAL LITERAL cli$_negated;

EXTERNAL
kernel_accvio : VECTOR [4, LONG];
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OBAL ROUTINE showSdevices : NOVALUE =
BEGIN

i This 11.the main routine for SWOW DEVICES. It locts th’ specific
re

; qualifiers and then goes to the common SHOW_DE v subrout
p—
LOCAL
%tatus. ! General status return
lags : $BBLOCKL4] INITIAL(O); ! Options longword

%r (flags(deviSv_served) = clitprosont(!ASClo *SERVED'))

HEN ! 1f SHOW DEVICE/SERVED requested
BEGIN ! execute the routine to display
showSmscp(); i information about MSCP-Served
RETURN; ! devices since it is totall‘ different

ND; ! from the rest of the SHOW DEVICE code

Collcct the qualifiers.

dovilv ollo&ated] = cliSpresent (ZASCID 'ALLOCATED ):
s{deviSv full) = cliSpresent (XASCID 'rug
s(deviSv_mounted) = cliSpresent (XASCID HOUNTED );

og

a?s[dovitv files) = cliSpresent (XASCID 'FILES®)
nfllgs[doviSv windows] = cliSpresent (XASCID 'winoows*))
f

Llags(deviSv_files] = 1;
IF .flags[doviiv_filos)
THEN

BEGIN

flogs dovitv _system] = (status = clis resent (XASCID °"SYSTEM'));
lao deviSv_ uger = (.statui OOL cl . nogatod)

e =, =y =R = = —
XM= g
m .8

0

.flags deviSy systsn f neither /SYSTEM or
ags i INOSYSTSH. ?et both
: -

t deviSv ussr
gueu flag: dev = flags(deviSv_user

$v_system

show_device(flags);
RETURN;
END;

! Go actually do the work.

.TITLE SHODEYV
-IDENT \V04-000\

.PSECT SPLITS,NOWRT ,NOEXE,?2
AB: .ASCII RVED\<0><0>
A 13694728

00 00 44 45 56 52_ 45 § § §g P.
PIARA: -LONG
' 'KDDRESS P.AAB

80060006

&
i

P 6
- (5




SHOOEY. e-sen-1one qazss gt sLisec32 ve.0-e rage 7

01

2 wooclllc §

§§
01
000000006

0

8

42 02 01 00000 DEVICE 1A=LEE

.BLKB
000000006 000000006 000000006 000000006 000000006 80008 ROUTINE_TABLE :

.ADDRESS

EXTRN
EXTRN
+EXTRN
+EXTRN
EXTRN
+EXTRN
+EXTRN
EXTRN
+EXTRN
+EXTRN
+EXTRN

.PSECT

3 el e B

— o m
22373322855
o33

2Rz

553

VWM
D
m>»

P

P

w

146 A 1$: PUSHAB
80 £ NSy
20 Ag 9F % PUSHAB

. 2, 66, =95, 67

DISPLAY DISK, DISPLAY MAGTAPE,
DISPLAY_TERMINAL, DISPCAY JOURNAL.
DISPLAV “PRINTER
DISPLAY_D1SK DISPLAV _MAGTAPE
DISPLAY TERMINA
DISPLAY JOURNAL
DISPLAY_PRINTER
CLISGET_VALUE thpnessn1
LIBSGET vn.
lo AN ILES

tr DISPLAV _BRIEF
o sr AY GE
S ne
CLIS NEGATED. KERNEL_ACCVIO
$CODES ,NOWRT, 2

SHOH$DEV§CES. Save R2.R3
ctxsrﬁeseur R2
CLISPRESENT
§ #6, M1, FLAGS*1

. SHOWSMSCP

RNDORWDO™
-

oi c ISPRESENT
RO, #1, FLAGS
P.AAe

00 00 00 44 &5 S& &1 43 &F D010 B.AAD:  LASCII  \ALLOCATED\<0><0><0> :
“ s 4 P.AAF. ::gcn S \Fites :
JULU . 4 o :
D008 PLAAE: L 17886324 :
00 46 &5 54 &E 30080 p.AAN: ASCIT ’\:a§a§ \<0> :
~§§ P.AAG: Zkggg ¢s 20347 4737 -
00 00 00 53 &5 00040 P.AAJ: ZAscx \EILES10><0><0> :
00048 P.AAIL: .LONG 5 ; :
00 S3 57 4F 44 0050 P.AAL : Asclf \u NDQWS\<0> :
e s AT Wit ,
00 W 45 54 50 P.AMN: Itts”c‘:f \§v31§n\<0><o> :
AR L ODRESS  PoARN :

.PSECT SOWNS ,NOEXE 2

3 A1

LA LA TR TR TEATE AR TE TR PR TR PR T

0552

oo
&%

it

0576




V04600

® & & &

; Routine Size:

n
0
01
01
28

0

151 bytes,

AX=11 Bliss=32 v

it i

3¥ g f th 05 %xsrues NT
n I ; LAGS
85 g 58 C Ls ci gsxsra555nr
f ;s v E FLAGS
40 AS 9F SHAB
8§ g rs CALLS 03 xsrnssent
50 A ;r ‘SSV . TR
f CALLS ci C 1srassen1
f NSV § #1, FLAGS
a%ggz ' LAGS
6 o 1 . 2%: gag“A‘ ‘A;LAGS. 4
82 1 rs CALLS ai CLISPRESENT
? ;‘ érgr tirus. #4, #1, FLAGS
000000006 8F g1 CMPL itnrus. #CLIS_NEGATED
; nee o
05 1 °F 38: INSV , #5, #, FLAGS
& s ¢ B8 32 FLhcs. 4
6E 0 S 008 BISB2 w48, rLAs§
E DD 8osr 4 PUSHL SP
0000V CF 01 52 091 ge%us #1, SHOW_DEVICE

Routine Base: $SCODES + 0000

CLIUTL SRETSHODE

v:83%:1

s
S
v
~ Q0

e i = S ———————e -t
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L

AR LA TR TRIE TR IR LA TR TR T AR DO D O T

— o

Routine Size:

(]
S AX=11 Bliss=32 v4.0-7¢4

-S::: g: ?} 8‘ 32 !CLIUTL.S!C SHODEV.B32;
OBAL ROUTINE showSprinter : NOVALUE =
]
l
i This is the dummy routine tha ? sratchod to by the SHOW dispatcher.
; It sets the /FULL and /PRINTE n FLAGS and calls SHOW_DEVICE.
1

LOCAL flags : $BBLOCKL4A] INITIAL(D);

flags(deviSv_full) = flags(deviSv_printer] = true;
show lg.‘co(VLags - wt

LENTRY SHOWSPRINTER, Save nothing

CLRL
6E 0102 g =6§H2 0&53 FLAGS#+1
0000v CF i Fl CA}L 1 SHOW_DEVICE
04 1 RE

17 bytes, Routine Base: $SCODES ¢+ 0097

Page
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L

LTI LTI

Routine Size:

E-seomions QI pah Butaeca2 o0

&a# ROUTINE showSmagtape : NOVALUE =

- - -
-l

his is the 0}- routine tha s dispatched to by the SHOW dispatcher.
t sets the / APl and /FULL b tr n FLAGS and caus'suou,uvxcg.

LOCAL flags : $BBLOCKL&A] INITIAL(O);
!lm[n‘vitv full) = flags(deviSv_tapel = true;

show_device(Tlags);
RETURN;
END;
ot EE:{RV ?nggHAGIAPE. Save nothing
6E 0402 F A8 BISwW2 O%Ogb. FLAGS*+1
DD PUSHL SP
0000v CF FB CALLS #1, SHOW_DEVICE
04 1 RET

17 bytes, Routine Base: SCODES + O0A8

AIEA TR TR TR TR T
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i R R e rose 31

Address of scratch area
Argument Llist for SCMKRNL

D¢ gtﬂlht ROUTINE show_device (flags, journal) : NOVALUE =
:’: loass
D¢ i
D { Ihis is the common routine tho sLL the other routines feed into. It
06 : tains 8 dev c’ . sooct fed. Tho device name is pars
D¢ : virtusl memory is then o and appropriate routines are called in
Dé i korncl mode to collect tho dltl. Upon return from the kernel mode routines,
¢ : the common output routine is called.
Dé i Inputs:
Dé s flags - lddro? s of control fl
)¢ | journal = optional, used only y "JCP to pass the name of the
'y : ournal.
: —
BUILTIN
actualcount;
MAP flags : REF $8BLOCK;
LOCAL
status ! General status return
unit : VOLATILE ! Unit r of parsed device
: VECTORLs 33 nodcnonoo BYTE]), ! Nod '
device : VECTOR 08 ¢ nanl th+1,BYTED, ! bcv cc str
device dcsc 3 CKCdscS$c _blni. g Device descriptor
i

data : REF VE
arglst : vecroa?’j

i
‘ Inftialize the ASCIC strings, the unit number, and the device descriptor

tOJ - devicel0] = 0; ! Nothing in strings yet
gn 3 ! No unit number yet
init dyndcsc(devico desc); ! Set up the device descriptor

: It from JCP, set up the device descriptor,
iF actualcount() EQL 2
THEN

lu
journal : REF $BBLOCK;
dovico dosc[dsc _length) = .journalldscSw lon?thl
Eevico descldsc$a_pointer) = .journalldsc$a_pointer]);

)
g Otherwise, just a normal path.

ELSE
BEGIN
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S —— - a— -9

— R ROEERES e

ol RIS "0 T IREOSS: Sh"SSBCBER ALY R ST I e

§$e=°' cliSget_value(ZASCID "DEVICE', device_desc)

1 I
1 :
1 ;
1 : GIN
1 - .flags(deviSv_term] ! If SHOW TERMINAL and no
} ‘ MEN ! specified, use SVSSCOHHAND
1 : dov’co doscEdse:u Length) = TCHARCOUNT (*SYSSCOMMAND'):
device descldscSa pointer] = UPLIT BYTE ( svs COMMAND*§ ;
§ LSE IF .flags(deviSv_files) ! 1f SHOW DEVIIILGS and no disk
HEN ! then use SYSSDIS
5 dov!co desc[dscSw_Length) = ZCHARCOUNT (';VSSD!S&')
gagicc descldsc$a” pointer] = UPLIT BYTE (*SYSSDISK');
END;
END;

If SHOW DEV!CEIFILES wWas cifitd make a major detour, and simply call
the SHOWFILES module. s FILES {s just too different from the way that
the rest of SHOW DEVICES works to try to thread it in.

;E .flags(deviSv_files)

BEGIN

:;aﬁgs = shousfilos(dcvico desc, .flags);
IHEN SIGNAL( StAYUS)

RETURN;

END;

— g s o= -

e B B B b D —D D

NOWVS NN = OV NO WV W =O

]

' 1f, after all this ri?auorolo. there is actually a device name to parse,
5 then go ahead

i

F .device_desc[dscSw_Llength] NEQ 0
THEN

BEGIN
IF NOT (status = parse_device(device_desc, Pass device as input

H
1. ! Get node part
device, ! Get DDB part
unit, ! Get ynit number
.flags)) ; ossibly set flag bits

0 away if error.

N NNNNNNNNNNNNNNNNNNNNYNNYNNNNNNNYNNNNNNNNNY

et St S ebet S I PRt

Ezsu (SIGNAL(.status) ;RETURN);

i
‘ Grab a Large chunk of space, to put the information about the device(s).

lf NOT (status = LibSge vu(!utrt512'512) data))
THEN (SIGNAL(.status); RE!UR i

datal0) = 512¢512; ! Store the size of the segment §

LT NT NIV NT NTNTNTNTOTY W W W o XV N LN LN LN LN LN LR DNV VIV IV TV LN LN NN DN LN N DN DN IV Y YV IV IV P VIV LV IV D R VW P v V]
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g Now get information on the device(s) requested.

T ———————————————

Sratitfi] S

arglstf2] = device;
arglst = ,unit;
arglst =, lagg:

arglst = .data
status = SCMKRNL (ROUTIN = fo_scan
ARGLST

sc
= arglst);

*r NOT .status

HEM

#r .status EQL ss$_accvio
HEN SIGNAL(.status, .kernel_accviol0), .kernel_accviol1], .kernel_accviol2), .kernel_accviol3], 0)
saalGNAL(.statusf:

-4

E
END;
g Sort the devices so that the displays are cleaner

sort_devices(datal0));

Print the information. The method that is used is very dumb, but it works.
The scratch area is scanned repeatedly, once for each device class. If a
particular device gets printed, its D_V_DISPLAYED bit is set.

Then, all the devices that didn't get printed in the device-specific scan
get printed in a general format.

LR A X LR LT E TR TE T _T¥ 3

scratch : REF $BBLOCK;
!lagstdcvisv_displlyodl = 0; ! Assume that no devices will be found
; Go thru each device type.
INCR index FROM 0 TO device_table_Length - 1 DO

404
<
i%
)
B

BEGIN
flags[dovitv_hotser = 1; ! Print a header the first time |
&1 scratch = .datal0); ! Point to head of device list i
61; WHILE .scratch NEQ 0 DO ! Go thru all the devices
4 BEGIN ''a 2ovico &lass at a time
:}g %asﬁscrotchtd_b_dovclass] EQLU .device_table(.index
&1? BEGIN
6 IF (.flags(deviSv futlz) ! IF /FULL, do dev-specific output
613 THEN (.routine_tablel.index]))(.scratch, .fla,s’
61 ELSE display_brief (.scra%ch. .flags); . Otherwise use the aonorll output routine.
:g? 3§Satch d_v_displayed) = 1; ! So we don't re-print this device.
422 scratch = .scratchld_L_ucbl; ! Get to next device.

———
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L

: & 2 END;

3 6 END;

3 : ; .

E 2 g Now to print the general-device stuff.

;4 fla s[dovisv _header] = true; I Get a headin

: & 1 scrgtch = .data !33' = ! Back to the goad of the list '
: 43 1 WHILE .scratch NEQ 0 DO |
: & ; 13 & BEGIN

: &4 146 & %F NOT .scratchld_v_displayed]

: & 15 g HEN

: &35 1? BEGIN

: & 1 IF (. flagstdoviiv fulll) ! IF /FULL, do dev-specific output

: & 18 THEN d sploy onoral(.scratch. .flags)

: & 1 ELSE dit scratch. .flags); ! Otherwise use the general output routine.
; :40 ? { scrltch d_v aisplayo ! So we don't re-print this device.

5 (Y] i 4 scratch = ,scratchld_L_ucbl; ! Get to next device.

: &4 END; :

: &b 4 END;

o 21

% 2: 9 ‘ I1f nobody managed to set the displayed bit, then we saw no devices

; &4 § xa NOT .flags[deviSv_displayed]

zg 1 s 16NAL (555 _NOSUCHDEV)

- i ; ELSE IF .flagsCdeviSv_full)

; &5 THEN

3 222 3; showSwrite_Line(XASCID '*, flags);

P45 RETURN;

3 65? ga END;

«PSECT SPLITS,NOWRT,NOEXE,?2
00 00 45 43 49 56 &S 44 07g +AAP: _ASCIlI \9EVISS\<0><O>
78 P.

§000§ AAO: .LONG
&b 4E 41 4D 4D 4F 4 4
N R

P.AAQ: .ASCI% \g connAup\
LASCII \SY
giocoea, 08034 PIAAS:  ILONG V2694720

s$
YS$DISK\

°2°2°assa°~
z

P.AAR:
.BLK
.ADDRESS P.AAT
EXTRN SYSSCMKRNL
.PSECT SCODES,NOWRT,2
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MOVAB  ~136(SP), SP ;
- Frie EE f }g CLRB  DEVICE : 0668
“i ¢ 8001 ﬁhggt g ", 1 ; 8699
55 :2 020€E00 gr 3 }' MOVL & l&97$36 DEVICE_DESC : 0670
28 AE 34 ; Ehgﬁ ?ngcs ESC+4 § e
- 3? 11 3 BNEQ 18 § oo
A o B : :835 {28?"‘%gv?25 DESC :
53 :E 04 2§ 5 ; MOVL g(aoi. DEVICE_DESC+4 : ggo
34 ¢ BRB < : ger
& AE 9F 18: PUSHAB DEVICE_DESC :
ooSo' F 9 0004 PUSHAB P.AAD :
000006 F 4 CALLS 03. SLISGEY_VALUE :
o gg 8 Eg 0 25 Eb%f ?Liss’ RO ' 0696
1 A8 - ‘% 2? 8 5 BBC #1, 1(RO), 2% -
” ‘ 83 0 0¢ sg movw  #11, DEVICE_DESC : 0699
53 :E 0000° CF 35 § 5C gggAa g.AAO. DEVITE_DESC+4 : 0700
60 5 é1 oggz-zs- BBC ag. (RO), 3% : 3;3
- AE 8 80 00068 MOvWw  #8. DEVICE DESC : 0703
53 AE 0000° CF 35 oog MOVAB :.:eg. giv!cs_oesc+a : 0706
13 22 04 §§ 21 887§ - :zgtL g%. (R4), 48 ¥ ana
28 A‘ 32 008;3 PUSHAB DEVICE DESC :
‘ 00 FB 807r CALLS a§. SHOWSF ILES :
P 2 00 80086 MOVL RO, STATUS ¥ avse
§§ 5 59 0089 g%?c STATUS, 6% : o7§‘
24 AS a§ 8833 48: ;g;r ggvxse_ossc : 0729
34 30 8033 PUSHL R4 : 8;33
FC AD 9F 0894 PUSHAB UNIT :
& AE 9F 00097 PUSHAB DEVICE :
;c AE  9F 809A PUSHAB NODE :
3. AE 9F 00090 PUSHAB o;v:ce DESC :
§ F A CALLS #5, PARSE DEVICE :
ey gS D A MOVL RO, STATUS :
6E 2 0 BLBC  STATUS, 73 e
4 AE Sr 00AB 5% PUSHAB DATA ;
00040000 8F DO 00OA MOVL 0%62144. 4(SP) 3
e o 00 N Basee  Blwe 4 - 0% ;
. 50 000 ROVL® RO STATUS - :
E9 000C3 68 BLBC  STATUS, 78 P
§ 8‘ 8 b ; =8¥t 3‘531425 (RS) :
Ae 0040090 35 °§ 1 ROV #5.-ARGLsT : 0731
8' AE 70 AE 9€ 00005 MOVAB NODE, ARGLST+4 : 07
6 AE 2C A€ DA MOVAB DEVICE, ARGLST+8 : 07
16 At f¢ AD po 0000F MOVL  UNIT, ARGLST+12 : 0734
18 AE 3% 70 000e4 MOVG  R&, ARGLST+16 : 0733
. . A 3: €8 PUSHAB ARGLST :
oooooosse 05 f 000EB PUSHAB 10_SCAN
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Routine Base: $SCODES + 00B9

p-1980 1388 HeliUh dsadssaotv:8sl:

'5' SYSSCMKRNL
RO, STAT
STATUS,
;Inrus. "2

=(SP)
KERNEL_ACCVIO+8, -(SP)
K;R?E%,ACCVIO. -(SP)

STATU

¥6, LIBSSIGNAL
Srnrus

2 3

#1, SORT DEVICES
#32, 1(R%)

X
1(R4)
), SCRATCH

(SCRATCH), DEVICE_TABLELINDEX]

, (R&), 118
ROUTINE_TABLECINDEX], RO
#*M<R2.R

&>
gs‘ (rRO)

#*M<R2 RG>
'f- DISPLAY BRIEF
#1, 4(SCRATCH)
%3gﬂAtCH). SCRATCH

#4, INDEX, 9%

#8° 1(R4)

(RS), SCRATCH
198

4(SCRATCH), 18$
1, (R4)

[ ’ 16‘
#*M<R2 R
{;‘ DISPLAY_GENERAL

#*M<R2,R4>
lf. DISPLAY BRIEF
#1, 4(SCRATCH)

% gnutcu). SCRATCH
#5, 1(R4) §1s

#2812, -(Sp
#, LiBSSIGNAL

#, (R4), 228
FLAGS

B R e
2NN SV Z
L L=1 1 -4

P.AAS
#2, SHOWSWRITE_LINE
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1;-50 -1 :32: AX=11 Blisg=32 Vv4.0=-74 P 18

1 -308-1832 ?}:8335; CLIUTL.SIC’SHODEV.!SZ: - (9)

:ggIANE sort_devices (data : REF VECTOR [, LONG]) : NOVALUE = :

....

i

i This routine Links the scratch areas into a sorted List. The sort key is
! the device name. A special key field 1% used, since if the device name

| per se were to be used we would see DUATO: before DUA2:.

LOCAL
scratch : REF $BBLOCK, ! Address of current entry in scratch area
len; ! Length of device name
datal0) = 0; ! Use the first longword as the List head
scratch = datal1); ! Point to start of scratch arcf
UHILSEégaratch d_t_devicel NEQ 0 DO ! Go thru all the devices (name([0,0,8,0] = 0 marks the end)
BIND
dev = scrozch[d t_devicel : VECTOR [, BYTE);
len = .scratch(d_b_devienl-1; ! Get the total Llength without the colon
DECR i FROM (.len=-T) TO O ! Adjust length for 0:n=1 index and scan backwards
00 : throu?h the string, lookin? for the last
BEGIN ! non=digit in the string. This trims the unit number.
IfF .d J GTR XC'9" OR .dev[.i) LSS XC'0’

! Non=-digit, done with this one
- 1; i Found a digit, shorten the string

END;
CHSMOVE(.len, dev, scratch(d_t sort_namel); ! Move the node/controller to the sort field
insert_device(.scratch, gotoIOI): i Insert it in the list
IF .scratchld_b_devclass] EQLU dc$_journal Skip over the journal device
THEN scratch = Tscratch + d_k_Llength;
scratch = .scratch + d_k_Length; ! Get the next device.

RETURN;
END;

00FC 00000 SORT_DEVICES:
WORD

. Save R2,R3,R4,R5,R6,R7 : 8339
04 sc D4 °8°§ CLRL  @DATA : 085
57 04 AC 4 81 000 ADDL3  #4, DATA, SCRATCH : 085
08 A7 g 0083 18: 1STB.  8(SCRATCH) . 085
3F 13 000 BEQL 6% :
gg 06 A7 9A 0000 MOVIBL 6(SCRATCH), LEN : 086
(R T {5
39 08 A740 91 00018 2%: CMPB (SCRATCH)C1, #57 T 0864
2 1A 00010 ?stau 4 ;
30 08 A740 91 0001F MPB  S(SCRATCH)CI], #48 ;
1f 5& BLSSU 4% :
6 D7 00026 DECL  LEN : 0866




; Routine Size:

79 bytes,

tosee:

a7 3 58 00038 a8
- 04 ss ED
A §
5 oog 08 e
04 4LE 6%:

Routine Base: SCODES + 0263

198¢ 2:38:33

Al-11 llis
CLIUTL. SIC S DEV 2;2 ‘

sooesc 28
MOVCS LEN, B(SCRATCH), 6B(SCRATCH)
PUSHL TA

AL NSERT DEVICE
§=:§ 6(§anrcn). 0%61
MOVAB 6§(n7>. SCRATCH
MOVAB g (R7). SCRATCH
RET
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NE insert_device (new : REF $BBLOCK, head : REF $BBLOCK) : NOVALUE =

§
(2]

o
&

This routine inser‘s the input doviﬁo into the List of sorted device
scratch blocks, using the D_L_UCB field as the Llink.

Inputs:
new - address of device to be added

AR IR TR AR S . ..

LOCAL
nxt : REF $BBLOCK, ! Pointer to next device block
prv : REF $BBLOCK; ! Pointer to Last device block
S$SASSUME (SEVTEOFFS T(d_L_ucb), EQL, 0); ! Only works if UCB is the first field
prv = head g L_ucbl; ! Previous starts out as the head
nxt = .head a_t,ucbj: ! Next starts as the first one
gsxte 1 | Use EXITLOOP as a structured GOTO
BEGIN
%aiﬁnxt EQL O ! At the end of the List, insert it here
BEGIN ! (identical blocks, compiler with combine into one)
prvid_L_ucb] = .new; ! Point Last block at this one
newld | ucbl] = .nxt; ! Point this block at the next
E:gtLUoF:
IF CNSGfl(d_s_sort_nolo. nxt d_t_sort_nanog ! 1f next is greater than the new, insert it here
d_s_sort_name, newld_t_sort_name §
THEN
BEGIN
prvid_L_ucbl] = .new; ! Point Last block at this one
newld | ucb) = .nxt; ! Point this block at the next
E:&lLUoP:
prv = JAXL: ! Move to the next block

nxt = .nxtld_L_ucbl;
END;

RETURN;
END;
007C 00000 INSERT_DEVICE:
.WORD Save Ri.RS.RA.RS.Rb
gs 84 AC 7 MOVQ  NEW, R
4 8 8 2 MOVL gneio. NXT
8 A 18: BEQL $
A5 W A4 1 ; 5 CMPC3  #16, 6B(NXT), 68(RS)
0 B 0001 BLEQU 3%

£2333
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; Routine Size:

37 bytes,

Routine Base:

$CODES +

o WRR ¥A

=82288

282

hosho-tons Qgisy Aty Sutascia .07 rave 3}

MOVL
MOVL
RET
MOvL
MOVL
8RB

NEW, (PRV) : 091
NXT, SNEW : }1
NXT, PRV : 19
(NxT), nxt : 091
18 : 0898
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=22{£N£ parse_device (device_desc, node, device, unit, flags) =

....

i

i This routlno tokus tho G’vico specified in DEVICE DE t and returns

! 8 device stri 8 un . The method used o first translate

! the passed str ng up to 18 times, and then t? orsc thc tinal. resultant
string, breaking it into a unit number (possibly) and a DDB part.

Inputs
DEVIC!_D!SC = address of a descriptor holding the actual string specified

Outputs

= address of ASCIC to hold the node name or allocation class
DEV CE = address of ASCIC string to hold the DDB name
= address of a longword to hold the unit number
map
nod’ : REF VECTORL,BYTE)
device : REF VECTORL,BYTE],
flags : REF $BBLOCK
device_desc : REF $BBLOCK;
LOCAL
status,
exp,
ptr,
S it
emp_unit,
‘n desc : VEC!OItf
?uf desc : VECTOR[2)
n_Buff : VECYOR(togic ZnamLength, BYTE)
ouf_buff : VECTORCLog$t_namlength,BYTES;

Transfer the initial string to IN_DESC, and set up the descriptors for the
iterative translations.

in doscEO dovico dosctdsctu _length]; ! Use passed length
in_desc i int to local buffer
out_d osc og c nanlongth i ot up the result descriptor
out desc i be max size
CHSMOVE(. dovico dosc dscSu length) i Hovc original string to
dscSa pointori i the loca fer.

dovico dosc
in_bu

(]
g Translate the device name, up to 10 times.

inca indol FROM 1 T0O 10 DO

r - CHSF IND_CH(,in_desc[0], .in_desc(1],
gf NOT CHSFAI((.ptr)

Page 22
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THEN in_desc(0] = .ptr = .in iosctl] ! Get rid of colons +...
& status = !TINLOG(kOGNAR z in aosc. ! Try to translate
¥ ng' = ouf_de
RSLLEN = out do:c!
‘r NOT .status ! 1f an error, then exit
HEN RETURN .status;

Before continuing ’ith th’
translation, see :his s
El proccss-poraoncn

T R

Also check and remove one or
two underscores.

f?'fn;agﬁaa(.out dosct‘is £oy 1x-18:
AND CHSRCMAR desc ) E
AND .out_des t8¥

THEN
‘hgs IF H‘ltﬂlﬂ(.out Jdesc(1)) EoL *_°*

t 1;
#f nsacuAl(éout desc[1]) + 1) €L *_°*

END;
;r .temp NEQ 0 ! 1f there were any characters
HEN ! to remove, then do so now.

K

>

-

gsg‘ovt(.out dosct?i .temp,

>

D VA SN i

.',,"r',.',."='n'=‘=§n'n'n'm',§.£é::.:.:.:.:.:.;:..'.:. 3= D000 OO0 T DD DD B OO DT
&5 85 B B~ 8 8 B L NN NONOIPNI RO NI NI NINININY L LA L NN N U AN £ 8 8 B 8 WA 8 8~ 5 5 Wi Ui R U i U
— Gy PP s o wm e -
-
WV oo (A
L -.-.:
m =e "
»5S-.
-
X -0
g P:ﬂn
>= 89
s
—
-~

>

t_de
out dcsctsg .out_desc[0] - .temp;
END;

>

Rearrange the pointers

?ﬂr = .in do

]
6 scEO} .out dosc[?i ! so0 that we continue to
6 .out "desc ! translate.
6 .status EOL SSS_NOTRAN ! 1f no more translation,
6 ! then go parse the string
6 out dosc[ sc hamlength;
2 : out “desc
z
669 here is an SCS nodename or an lltocation class on the front of the name.
64 S nodename, remove it and place the SCS node into NODE as an ASCIC string.
665 ocation class, remove it and place it in NODE[1:4]) as an integer, a
64 s0 that we will know that it is an integer.

%ntf ND_CH(.in_desc(0], .in_desc[1], '!')‘

e D D D D D ) el ) e D D ) ) e ol e D) ) D e D D ) ) ) D e D D el D D

ot
temp) ! 1f there is an SCS node,

4 ke

3 atit..’ EOL .in_desc(1] ! Leading ''$'* should be an allocation name
i o
6 i all VECIOQ (2 ]° ! Descriptor f?r algggotion class string
3 : :: g:::r?i - ! Remove the first from the front
6 temp = ? 1n osc[?] ! Find the second ''$"" in the name, the one
65 .in_desc 's'); ! that separates allocation class from device
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bl i cmlh b

B = O

e —————— . 1

heseo-ione QLigesy  yaccht SLiaye3z w0 e,

F CHSFAL (.tm ' It thcro ifs 2 "'$"" on the front, we'd better have '
u{ SS! VDE ! ont '
sl d .‘:ﬂi el ,doscti] ; lc?iaf th ofrzgiocotion class +
: t
1ssévt' (alLd, nodelO) i er B ltorc 1» node |
URN 13 4 'k! ! Eout ’t convcrt ’!’ can't "t d |
,tocls = 1. i Let them know it s X allocation class name
A n_desc ] - .alld 8 « 1;! Calcula o new ’ong
n dos in_dcs ¢ .alld ¢+ 1;! new position o ring
ELSE
BEGIN
el0 .to-s = .in_descl1]; ! Calculate NOD? count |
CH (. i t the n
ch]. ! without the ''$"

1n _desc "id n dcsc[?} - .nodoEgl = 1;! Calculate new Length and
n dosc .in"desc node + 1:1 new position of string

~NOo W

! At this point we should have a physical device name, or else some fragment
! of a device name. This fra t needs to be arsod into a unit number and
! 8 device type. Tho simples pgroogh to tako is 'o backward, from the
! end of the string, and locate t rst non-numerical character.

.in_desc[0) EQL 0 ! 1f no more, then i
THEN RETURN 1; ! stop now. |

exp = 1;
temp - = -1

og'f ?Rao- rnbn .in_desc[0] - 1 T0 0 DO i

LOCAL
char : BYTE; Temp character

ar = CNSRCNAI( in_desc(1) + .index); ! Get a character
char GIR '9* See if it's a number
char LSS *0°
(temp = .index; EXITLOOP) If not, then exit |
f a number, add it

BEGIN n to the unit number *

temp_unit = .temp_unit ¢+ ((.char = "0") * .exp);
0;8 = .exp * 10; |
END; |
END; |
IfF . te-? EoL -1 ! If nothing but numbers,
THEN RETURN SSS IVDEVNAN; i return invalid device name.

i TEMP points to the character just before the unit number. Copy
i the string up to TEMP to the ASCID string, DEVICE.

CHSMOVE (. temp ¢ 1, ! Copy the device part

—d b ol ) ) ) ) - b = el b ) ) o D ) i D ) - -l i D D -l D D il D ) D D D D D el D ) i D D ) D D ) D il D ) il D D il D el
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wvm
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deutoelin):’

F_.temp+1 LSS .in_de
‘uen .unit = .temp_un

RETURN 1;
END;
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! of the translated name

: to DEVI

! and put in the count

LEXTRN
03FC 00000 PARSE _DEVICE:
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i If TEWP is not positioned at the Last character of the string,
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r L
Winbisafoes

#64, OUT_DESC

PTR. OUT DESC+4

;;o. #1, INDEX, 18

g'a. IN_DESC, SIN_DESC+4
4
15§
NODE, R6

r;nv. IN_DESC+4
13s

TEMP

N
IN"DESC+4
135. IN_DESC, @IN_DESC+4

1
i
N_DESC+4, TEMP, ALLD
N_DESC+4, ALLD+4

£
%
D
D
ALLD
:2. ?{gSCVT_TI_L
FLAGS ng

#16, 1(RO)

A%Lﬁ IN_DESC, RO
-1(RO), IN DESC

?k§°' fN_DESC+4, RO
!gsgesg04. TEMP, (R6)

RO, SIN_DESC+4, 1(R6)
(R&), RO
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MOVL
BRB
Move
CMPB
BgTRU

AX=11 .liis-lz V4.0=74
CLIUTL.SRCJSHODEV.B32;

?8‘ INDEX
N 4CIN » CHAR
iaA'?EEg; CINDEX], C

?HAR. #e8
LNDEI. TEMP
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#3524, RO
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S 16=Sep=1984 01:32: AX=11 =32 v4.0-74
ngesxo 12-50:-123& ?3:83:;; CLIUT L ! HOD v.B3 2.?
: I 11 1 END
: 7;3 118? 0 ELUDOH

LEXTRN LIBSSIGNAL
; PSECT SUMMARY
g Name Bytes Attributes
: SOWNS ga NOVEC, WRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
s SPLITS 1 NOVEC,NOWRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(Z)
: SCODES 1152 NOVEC,NOWRT, RD , EXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
: Library Statistics
; ccccccee SyBbOlS ~vceccce Pages Processing
. File Total Loadod Percent Mapped Time
; _$2558DUA28:[SYSLIBILIB.L32;1 18619 37 0 1000 00:01.7

COMMAND QUALIFIERS
BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE)/LIS=L1S$:SHODEV/0BJ=0BJS: SHODEV MSRCS:SHODEV/UPDATE=(ENHS: SHODEV)

Size- 115§o gge + 184 data bytes
Elopsod Tinc 1:4
Lines/CPU Min:

Loxonos/cru-nin 66590
{ Used: 0 pages
Compilation Coap ete
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